EAGRAROBREERT — 2 N— IBISH —F

2021568188 (&) 3EIIIIE5H

mﬁﬁxﬁﬁ#ﬂ 1 ¥5%3m®335AL ‘ (X4l W ‘ (sl — | 4 (B 16000 &
[x&<£] 1 % :2,200,000 @ ~ 23 :880,000 @ ~ 337 :550,000 @ ~ 4 3 :330,000 M ~ 5 7 :220,000 M
& % B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
. EHEZ 45, 5-3- 7| - TEE— (1)
il 7=rut—v # 3 gl 1(4_5)5 5-5-3-3 | 39.7 1 :1_630) aEg
L:70F =V BITI—4r % — Il gR—
. = 3 | Em#= 1:45.6 2-2-1-1 | 40.2| — 2 477 | MNARE (AR
2078 N—w>2T5>7 o 56.0 (3/4) (-6) B1fRA
L:d—IRYy T BEFCRNCT=F BR&#M IXT477—AL4
. 8 os A : -1-1- — AR (J1115)
3 6 NOZLHS — 4 3 an 1(.3%.)8 1-1-1-1 | 40.4 4 <4+623) e (
Z:NAXN=t B:RuauT7—ILK U-M-A
4 3| I HLA =1 - i 3 E%K 1;55 7-6-6-4 | 39.7| — 5 (4_211) %ggg (i)
R:TS59vI84K B:U/vyIR HIBRKS
PSS 43 | WisEE 1:46.4 8-8-7-7 |40.0| — 3 467 | i@ (11&)
5177 17 KZ2L 56.0 2 1/2) 3) WERZ=E
LW—5—Yv 7 B4~ gilll &
— g — e FITHIBL . ~7-5- . — o (B)
6lalio E—=>77% i 3 e 1(14/62)5 6-7-5-6 | 40.1 10 (4_1:) /_-,\;E;ﬁ
R:TITRAFIRI B:Oq¥IT15 ENse ]
o=\ #1138 : -3-3- - AEZE (1)
’ 4| TS50 it 3 o 1.&7}.8 4-3-3-5 | 42.0 6 gs;) ) 9(77.;@:4\
74 27)—hEvy b BiA42—) fERH%
~ N . P e . -8 — igEE (1)
8l5l5|519wro> H 3 e 1.(438).5 9-9-8-8 | 41.7 7 51:353; 5383;2
%774 BiTRT— [sd=tre]
- EHE 49, 40 5| — FEAIE ()
9 2 IRJZRMNY—k 4 3 s (12419/20) 3-4-9-9 |42.5 8 (4_489) Eﬁ%%m
L7t X BRKESI—L [afintie]
53 . 43 | B 1:49.5 10-10-10-10| 42.1 | — 9 | 452 |EEBH— ()
10/8/9|* AIVA > 56.0 2 1/2) 8) | ARF—
Rikya—4<vI B:NZS<HO> RIE7 7 — L4
® 1—F—@EBIERL
1T=7r= 6,8,2,4,1,10,3,7,5,9
2a=5F= 6,8,4,2,1,3,10,7,5,9
== (6,8),(1,4),10,3,7,5,2,9
AT =5F= (6,8),1,3,4,10,7,5,2,9
[ /N
B 1 1404 714K 1-8 180M e E 1-7 190M JEE 1-6-8 680F4
B B 1 100M4 1-6 330M e B 1-7 230M EE 1-8-6 1,720
8 1304 6-8 460M B = 1-8 320M
6 210 B H 1-8 430

ARICOVWTRDTEEERROODE. TR LIV,




